
 

 

 

 

    

  

 

  

 

  

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 1 2 8   3 

 

   

 

BÖLME İŞLEMİ ÇALIŞMASI - 1 

 

                                                 

   

                                                      

 

 

                                                               

 
  

İskender07 

Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 2 8 6   4 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 3 2 7   5 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 4 3 7   6 

 

   

Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 5 4 6   7 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 6 5 8   8 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 3 2 6   9 

 

   

Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 4 6 7    2 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 5 7 9    3 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 6 8 8   8 

 

   

Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 7 9 0   7 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 

 8 5 4   6 

   
Bölünen: 
 

Bölen: 
 

Bölüm: 
 

Kalan: 


